




S. No. Section Question Marks

1 Reasoning Paper 40 50

2 General Awareness Paper 40 40

3 Numerical Ability Paper 40 50

4 English Language / Hindi Language 40 40

5 Computer Knowledge Paper 40 20

Total 200 200

IBPS RRB PO Mains Exam Pattern :-



Topics No. of Questions Difficulty Level

Puzzles 20 Easy

Syllogism 03 Easy

Blood Relation 03 Easy

Direction Sense 03 Easy

Data Sufficiency (Statement-based) 04 Easy

Logical Reasoning 05 Easy to Moderate

Word Based 01 Easy

Number Based 01 Easy

Total 40 Easy

IBPS RRB PO Mains Reasoning Ability



S N E 7 R % F 9 D 6 # G I $ 4 F H * 3 10 L 5 A @ 11 B Y & Z 

How many such consonants are there in the above arrangement, each of which is 

immediately preceded by a vowel or immediately followed by a symbol but not both?

उपरोक्त व्यवस्था में ऐसे कितने व्यंजन हैं, कजनमें से प्रत्येि िो तरंुत एि स्वर से पहले या तरंुत उसिे बाद एि

प्रतीि से जोडा जाता ह ैलेकिन दोनों नहीं?

A. 1 

B. 2

C. 3 

D. 4 

E. 5



If in the word ‘CAPITALIZATION’ all the letters are arranged in 

alphabetic order then how many vowels are replaced by a new vowel?

यदि शब्ि 'CAPITALIZATION' में सभी अक्षरों को वर्णानुक्रम में व्यवदथित दकयण

जणतण है तो दकतने थवरों को एक नए थवर से बिल दियण जणतण है?

1. None 

2. One 

3. Two 

4. Three 

5. More than three



Conclusion : I > N as well as J ≥ Q is true

Statements: 

(1) L ≤M = N = O > I = J ≥ Q 

(2) R ≤ S ≤ T = J ≥ Q = L = M < I < N 

(3) T ≥ U = S ≥ Q = R ≤ J = A ≥ B ≤ C = D < N < I 

(4) I < N ≥ J ≥ Q

(5) L = I > N = J = Q ≤ T 



Conclusions : R < T as well as B > C is true 

Statements: 

(1) A ≤ B < C > T > R 

(2) J = A < B > D ≥ C = R ≤ S < T 

(3) R = T > B > A > C 

(4) Z < A < B < C > R ≥M > N > T 

(5) A ≥ R = B ≥ T > C



‘

F + O’ means ‘Some F are O’. / कुछ F, O हैं।

‘F & O’ means ‘All F are O’. / सभी F, O है।

‘F * O’ means ‘No F is O’. / कोई F, O नहीं है।

‘F @ O’ means ‘Some F being O is a possibility’. / कुछ F के O होने की सम्भणवनण है।

Q. Find DEFINITELY TRUE

J + A & C * K & E + T + S

Conclusion:

(1) S * T

(2) A + C

(3) K @ C

(4) C @ K

(5) A @ K



F + O’ means ‘Some F are O’. / कुछ F, O हैं।

‘F & O’ means ‘All F are O’. / सभी F, O है।

‘F * O’ means ‘No F is O’. / कोई F, O नहीं है।

‘F @ O’ means ‘Some F being O is a possibility’. / कुछ F के O होने की सम्भणवनण है।

Q. Find DEFINITELY TRUE

A + B + D & O + M * E & N

Conclusion:

(1) M + N

(2) O @ E

(3) A @ D

(4) D + M

(5) O * A



F + O’ means ‘Some F are O’. / कुछ F, O हैं।

‘F & O’ means ‘All F are O’. / सभी F, O है।

‘F * O’ means ‘No F is O’. / कोई F, O नहीं है।

‘F @ O’ means ‘Some F being O is a possibility’. / कुछ F के O होने की सम्भणवनण है।

Q. Find DEFINITELY TRUE

J * A & I + L * O + R & S

Conclusion:

(1) J + L 

(2) A + L

(3) R + O

(4) S + I

(5) J + R



A person walks 20 km in east direction from his home then he turns right and walks 10 km 

then he turns towards his right and walks 20 km again now he walks in south direction for 10 

km and finally took a left turn and walks 20 km to reach his office.

एक व्यदि अपने घर से पूवा दिशण में 20 दकलोमीटर चलतण है दिर िणए ंमुड़तण है और 10 मीटर चलतण है दिर वह 

अपनी िणदहनी की ओर मुड़तण है वह 20 दकलोमीटर चलतण है दिर से 10 दकलोमीटर तक िदक्षर् दिशण में चलतण है 

और आदिर में बणऍ मुड़तण है और अपने कणयणालय तक पह ंचने के दलए 20 दकलोमीटर चलतण है |

Q.If he travel at the speed of 15 km per hour and take a halt of 5 minute in each turn then how 

many time he will take to reach his office ?

यदि वह 15 दकलोमीटर घंटण की गदत के सणि यणत्रण करतण है और प्रत्येक मोड़ पर 5 दमनट कण ठहरणव होतण है तो 

उसे अपने कणयणालय तक पह ंचने के दलए दकतनण समय लगेगण ?



“people  want  hero” is written as “60   14   40 ”

“you leave” is written as “375    12 ”

What is code for “Computer” के दलए सभंणदवत कोड क्यण होगण? 

(1) 15

(2) 60 

(3) 50

(4) 64

(5) NOT



“people  want  hero” is written as “60   14   40 ”

“you leave” is written as “375    12 ”

What is code for “Sbi” के दलए सभंणदवत कोड क्यण होगण? 

(1) 15

(2) 16 

(3) 18

(4) 64

(5) NOT



“people  want  hero” is written as “GQG   B   GQ ”

“you leave” is written as “QW    GBG ”

What is code for “Computer” के दलए सभंणदवत कोड क्यण होगण? 

(1) QWG

(2) QG

(3) M

(4) HTP

(5) NOT



“people  want  hero” is written as “GQG   B   GQ ”

“you leave” is written as “QW    GBG ”

What is code for “RRBPO” के दलए सभंणदवत कोड क्यण होगण? 

(1) QWG

(2) Q

(3) MG

(4) HTP

(5) NOT



Eight persons A, B ,C ,D ,E, F, G and H have some red and some green marbles ranging 

from 1-8 in number. No two person have the same number of same colored marbles and 

same number of total marbles.

•The sum of total marbles with A and C is equal to the total  number of marbles with F.

•Number of green marbles with F is equal to the total number of marbles with A.

•A has 8 marbles in total.

•Number of red marbles with H is equal to the number of green marbles with D.

•D has 12 marbles in total.

•Only E has equal number of green and red marbles.

•Sum of the number of red marbles with A and green marbles with G is equal to the 

total number of marbles with F.

•G has 7 green marbles.

•B has 5 red marbles.



आठ व्यदियों A,B,C,D,E,F,G,H के पणस कुछ लणलऔर कुछ हरे रंग के मणबाल्स हैं दजनकी संख्यण 1-8 

से है। दकसी भी िो व्यदि के पणस समणन रंगीन मणबाल्स और समणन संख्यण में कुल मणबाल्स नहीं हैं।

• A और C के सणि कुल मणबाल्स कण योग F के पणस मणबाल्स की कुल संख्यण के बरणबर है।

• F के पणस हरे मणबाल्स की संख्यण A के पणस कुल मणबाल्स की संख्यण के बरणबर है।

• कुल 8 मणबाल्स हैं।

• H के पणस लणल मणबाल्स की संख्यण D के पणस ग्रीन मणबाल्स की संख्यण के बरणबर है।

• D के कुल 12 मणबाल्स हैं।

• केवल E में हरे और लणल के मणबाल्स बरणबर संख्यण है।

• A के पणस लणल मणबाल्स और G के सणि ग्रीन मणबाल्स की संख्यण F के पणस मणबाल्स की कुल संख्यण के

बरणबर है।

• G में 7 हरे मणबाल्स हैं।

• B में 5 लणल मणबाल्स हैं।



Eight persons A, B ,C ,D ,E, F, G and H have some red 

and some green marbles ranging from 1-8 in number. No 

two person have the same number of same colored 

marbles and same number of total marbles.

•The sum of total marbles with A and C is equal to the 

total  number of marbles with F.

•Number of green marbles with F is equal to the total 

number of marbles with A.

•A has 8 marbles in total.

•Number of red marbles with H is equal to the number of 

green marbles with D.

•D has 12 marbles in total.

•Only E has equal number of green and red marbles.

•Sum of the number of red marbles with A and green 

marbles with G is equal to the total number of marbles 

with F.

•G has 7 green marbles.

•B has 5 red marbles.

आठ व्यदियों A,B,C,D,E,F,G,H के पणस कुछ लणलऔर

कुछ हरे रंग के मणबाल्स हैं दजनकी संख्यण 1-8 से है। दकसी भी िो

व्यदि के पणस समणन रंगीन मणबाल्सऔर समणन संख्यण में कुल

मणबाल्स नहीं हैं।

• A और C के सणि कुल मणबाल्स कण योग F के पणस मणबाल्स

की कुल संख्यण के बरणबर है।

• F के पणस हरे मणबाल्स की संख्यण A के पणस कुल मणबाल्स की

संख्यण के बरणबर है।

• कुल 8 मणबाल्स हैं।

• H के पणस लणल मणबाल्स की संख्यण D के पणस ग्रीन मणबाल्स

की संख्यण के बरणबर है।

• D के कुल 12 मणबाल्स हैं।

• केवल E में हरे और लणल के मणबाल्स बरणबर संख्यण है।

• A के पणस लणल मणबाल्सऔर G के सणि ग्रीन मणबाल्स की

संख्यण F के पणस मणबाल्स की कुल संख्यण के बरणबर है।

• G में 7 हरे मणबाल्स हैं।

• B में 5 लणल मणबाल्स हैं।



Eight persons A, B ,C ,D ,E, F, G and H have some red 

and some green marbles ranging from 1-8 in number. No 

two person have the same number of same colored 

marbles and same number of total marbles.

•The sum of total marbles with A and C is equal to the 

total  number of marbles with F.

•Number of green marbles with F is equal to the total 

number of marbles with A.

•A has 8 marbles in total.

•Number of red marbles with H is equal to the number of 

green marbles with D.

•D has 12 marbles in total.

•Only E has equal number of green and red marbles.

•Sum of the number of red marbles with A and green 

marbles with G is equal to the total number of marbles 

with F.

•G has 7 green marbles.

•B has 5 red marbles.



Data Sufficiency :-

(1) If statement I alone is sufficient but statement II alone is not sufficient.

(2) If statement II alone is sufficient but statement I alone is not sufficient.

(3) If each statement alone (either I or II) is sufficient.

(4) If even statement I and II together are not sufficient.

(5) If both statement together are sufficient, but neither statement alone is sufficient.

(1) यदि किन I अकेले पयणाप्त है, लेदकन किन II अकेले पयणाप्त नहीं है। 

(2) यदि किन II अकेले पयणाप्त है, लेदकन किन I अकेले पयणाप्त नहीं है।

(3) यदि किन अकेले (यण I तो यण तो II) पयणाप्त है।

(4) यदि िोनों किन I और II एक सणि पयणाप्त नहीं हैं। 

(5) यदि िोनों किन एक सणि पयणाप्त हैं, लेदकन कोई किन अकेले पयणाप्त नहीं है।



Question: How is X related to Y?

Statements:

Y says, "I have only one brother".

X says, "I have only one sister".

प्रश्न: X, Y से कैसे संबंदित है?

किन: 

Y कहतण है, "मेरण एक ही भणई है"। 

X कहतण है, "मेरी एक ही बहन है"।



What is total number of students in the row?

(I) Mohan is 15th from the right end and Ramesh is 13th from the left 

end.

(II) There are 11 students between Mohan and Ramesh.

पंदि में कुल दवद्यणिीयों की सखं्यण क्यण है?

(I) मोहन िणये छोर से 15 वण है और रमेश बणये छोर से 13 वण है । 

(II) मोहन और रमेश के बीच में 11 दवद्यणिी है । 



What is total number of students in the row?

(I) Mohan is 15th from the right end and Ramesh is 13th from the left 

end.

(II) There are 11 students between Mohan and Ramesh.



Point S is in which direction with respect to point Y?

I. Point S is in north of Point X. Point X is in east of Point T. Point T is 

in north of point V which is west of Point Y.

II. Point Y is west of Point X. Point X is in west of Point T which is 

north of V. Point V is east of Point S which is south of Point X.

दबंिु S, दबंिु Y के सणपेक्ष दकस दिशण में है?

I. दबंिु S, दबंिु X के उत्तर में है दबंिु X, दबंिु T के पूवा में है दबंिु T दबंिु V के उत्तर में है 

जो दबंिु Y के पदिम में है । 

II. दबंिु Y, दबंिु X के पदिम में है दबंिु X, दबंिु T के पदिम में है जो दबंिु V के उत्तर में 

है दबंिु V, दबंिु S के पूवा में है जो दबंिु X के िदक्षर् में है । 



Point S is in which direction with respect to point Y?

I. Point S is in north of Point X. Point X is in east of Point T. Point T is in 

north of point V which is west of Point Y.

II. Point Y is west of Point X. Point X is in west of Point T which is north 

of V. Point V is east of Point S which is south of Point X.



How is the girl in the photograph related to Mohan?

(I) Pointing to the photograph, Mohan said, "She is the mother of my 

father's only granddaughter".

(II) Mohan has no siblings.

(III) Pointing to the photograph, Mohan said, "She is the only daughter-

in-law of my mother.“

(1) Any two of the three           (2) Only I and II  or III alone

(3) Only II and III                       (4) Either only III and II or only I and II

(5) None of these



लड़की की तथवीर कण मोहन से क्यण सबंंि है? 

(I) तथवीर की और इशणरण करते ह ए मोहन ने कहण, "वह मेरे दपतण की एकमणत्र पोती की 

मणं है" ।

(II) मोहन कण कोई भणई बहन नहीं है ।

(III) तथवीर की ओर इशणरण करते ह ए मोहन ने कहण, “वह मेरी मणं की एकमणत्र बहू है” ।

(1) तीन में से कोई िो (2) केवल I और II और केवल III 

(3) केवल II और III                         (4) यण तो केवल III और II यण तो केवल I और II

(5) इनमें से कोई नहीं



How is the girl in the photograph related to Mohan?

(I) Pointing to the photograph, Mohan said, "She is the mother of my father's only 

granddaughter".

(II) Mohan has no siblings.

(III) Pointing to the photograph, Mohan said, "She is the only daughter-in-law of 

my mother.“

(1) Any two of the three           (2) Only I and II or III alone

(3) Only II and III                       (4) Either only III and II or only I and II

(5) None of these



Eight members are living in a 

family. Q is the only son of P. 

T is wife of U. T is sister of Q 

and R. V is daughter in law of 

W. S is son of T. W is the 

mother of Q.

Q – Who is the husband of V ?

एक पररवणर में आठ सिथय हैं। Q, P 

कण इकलौतण पुत्र है। T, U की पत्नी 

है। T, Q और R की बहन है। V, W

की डॉटर इन लॉ है। S, T कण पुत्र है। 

W, Q की मणाँ है।

Q - V िा पकत िौन ह ै? 



Eight members are living 

in a family. Q is the only 

son of P. T is wife of U. T is 

sister of Q and R. V is 

daughter in law of W. S is 

son of T. W is the mother of 

Q.



If SAT is associated with ARS in a code language, then RTS is obtained.  

If none of these numbers (1,3,4,6,7,9) are used , then answer the 

questions given below. 

यदि SAT कोड भणषण में ARS से संबद्ध है, तो RTS प्रणप्त दकयण जणतण है। यदि इनमें से कोई भी 

संख्यण (1,3,4,6,7,9) कण उपयोग नहीं दकयण गयण है, तो नीचे दिए गए प्रश्नों के उत्तर िें।

SAT + ARS=RTS

Q. What is the code for S ?



Q. Read the following information carefully and answer the question given below it.

i. F ? R means R is to the right of F at a distance of two metre.R, F के िणए ंिो मीटर की िूरी पर है। 

ii. F * R means R is to the North of F at a distance of two metre. R, F के उत्तर में िो मीटर की िूरी पर है। 

iii. F + R means R is to the left of F at a distance of two metre. R, F के बणए ंिो मीटर की िूरी पर है। 

iv. F % R means R is to the South of F at a distance of two metre. R, F के िदक्षर् में िो मीटर की िूरी पर है। 

v. In each of the following questions, all persons face North.

If P % Q + R * S then S is in which direction with respect to P?

यदि P % Q + R * S है तो S, P के संबंि में दकस दिशण में है?

(1)  South-east 

(2)  East 

(3)  North 

(4)  West 

(5) None of these 



In an annual function of a college five students Deepu, Lakhan, Qamar, Kiran and Boni

participated in discus throw competition. All of them throw discus but discus was thrown by 

them to different distances. The distances were 27, 29, 31, 33 and 35 feet, but not necessarily in 

the same order as the names are. Similarly, the colour of shirt of each person was different. 

Shirt colours were black, blue, brown, green and red. Each person was called to throw discus 

one by one. Now read some additional clues: 

(i) Lakhan and the person who was given the chance at fifth position threw the discus more 

than 30 feet. And neither of the two was in blue shirt. 

(ii) Qamar ‘s shirt was green. He threw the discus immediately before the person who got 

the first rank. 

(iii) The person whose position was fourth, was in red shirt and threw the discus two feet less 

than the person who threw the discus only after one person. 

(iv) Boni was called first to throw the discus. But he did not get the last rank.

(v) One who threw the discus immediately after Deepu was in brown shirt.(

(vi) Kiran was not the person who through the discus at 31 or at 35 feet. 



एक कॉलेज के वणदषाक समणरोह में पणंच छणत्रों िीपू, लिन, क़मर, दकरर्और बोनी ने दडथकस थ्रो प्रदतयोदगतण में

भणग दलयण। उन सभी ने दडथकस िें क दियण लेदकन दडथकस को उनके द्वणरण अलग-अलग िूरी पर िें क दियण गयण।

िूरी 27, 29, 31, 33 और 35 िीट िी, लेदकन जरूरी नहीं दक उसी क्रम में हों जैसे नणम हैं। इसी तरह, प्रत्येक व्यदि

की शटा कण रंग अलग िण। शटा के रंग कणले, नीले, भूरे, हरे और लणल िे। प्रत्येक व्यदि को एक-एक करके

दडथकस िें कने के दलए बुलणयण गयण िण। अब कुछ अदतररि सुरणग पढें:

(i) लिनऔर पणंचवें थिणन पर दजस व्यदि को मौकण दियण गयण िण, उसने 30 िीट से अदिक दडथकस िें कण।

और िोनों में से कोई भी नीली शटा में नहीं िण।

(ii) क़मर की शटा हरे रंग की िी। उसने पहलण रैंक पणने वणले व्यदि के तुरंत बणि दडथकस िें क दियण।

(iii) दजस व्यदि को चौिे िें कने कण थिणन पर दडथकस िें कने कण मौकण दियण गयण िण, वह लणल शटा में िण और

दडथकस को उस व्यदि से िो िुट कम िें कण, दजसने केवल एक व्यदि के बणि दडथकस को िें क दियण िण।

(iv) दडथकस िें कने के दलए पहले बोनी को बुलणयण गयण िण। लेदकन उन्हें अंदतम रैंक नहीं दमली।

(v) दजसने िीपू के तुरंत बणि दडथकस िें कण , वह भूरे रंग की शटा में िण "

(vi) दकरर् वह व्यदि नहीं िण, जो ३१ यण ३५ िीट के दडथकस के मणध्यम से िण ।



In an annual function of a college five students Deepu, Lakhan, Qamar, Kiran

and Boni participated in discus throw competition. All of them throw discus 

but discus was thrown by them to different distances. The distances were 27, 

29, 31, 33 and 35 feet, but not necessarily in the same order as the names are. 

Similarly, the colour of shirt of each person was different. Shirt colours were 

black, blue, brown, green and red. Each person was called to throw discus one 

by one. Now read some additional clues: 

(i) Lakhan and the person who was given the chance at 

fifth position threw the discus more than 30 feet. And 

neither of the two was in blue shirt. 

(ii) Qamar ‘s shirt was green. He threw the discus 

immediately before the person who got the first rank. 

(iii) The person whose position was fourth, was in red shirt 

and threw the discus two feet less than the person who 

threw the discus only after one person. 

(iv) Boni was called first to throw the discus. But he did 

not get the last rank.

(v) One who threw the discus immediately after Deepu

was in brown shirt.(

(vi) Kiran was not the person who through the discus at 31 

or at 35 feet. 



Course of Action(Logical Reasoning ) - Standard Options 

Give answer –

(1) If only Course of Action I follows.

(2) If only Course of Action II follows.

(3) If either Course of Action I or II follows 

(4) If neither Course of Action I nor II follows.

(5) If both Course of Action I and II follows.



Statement : The police department has come under a cloud with recent revelations that at least 

two senior police officials are suspected to have been involved in the illegal sale of a large 

quantity of weapons from the state police armoury. 

Course of Action :

I) A thorough investigation should be ordered by the State Government to bring out all those 

who are involved in the illegal sale of arms.

II) State police armoury should be kept under Central Government's control. 

किन: पुदलस दवभणग के हणल ही के िुलणसे के सणि दवभणग ने अपमणन महसूस दकयण दक उसके कम से कम िो 

वररष्ठ पुदलस अदिकणररयों को रणज्य पुदलस शस्त्रणगणर से बड़ी मणत्रण में हदियणरों की अवैि दबक्री में शणदमल होने कण 

संिेह है।

कणयावणही:

I) रणज्य सरकणर को हदियणरों की अवैि दबक्री में शणदमल सभी लोगों को पूरी तरह से बणहर लणने के दलए जणंच 

करणनी चणदहए।

II) रणज्य पुदलस शस्त्रणगणर को कें द्र सरकणर के दनयंत्रर् में रिण जणनण चणदहए।



Statement : The killer communicable enteric fever has so for claimed 100 lives in 

some tribal villages in M.P. during the past three weeks. 

Course of Action : 

I The residents of these villages should immediately be shifted to a non-affected 

area. 

II) The Government should immediately send a medical squad to this area to 

restrict spread of the killer disease. 

किन: दपछले तीन हफ्तों के िौरणन एमपी में कुछ आदिवणसी गणंवों में जणनलेवण संक्रणमक आंत्र

बुिणर 100 लोगों के जीवन को समणप्त दकयण है।

कणयावणही: 

I) इन गणंवों के दनवणदसयों को तुरंत एक प्रभणदवत के्षत्र में थिणनणंतररत दकयण जणनण चणदहए।

II) जणनलेवण बीमणरी के िैलणव को प्रदतबंदित करने के दलए सरकणर को तुरंत इस के्षत्र में एक 

दचदकत्सण िल भेजनण चणदहए।



Statement : Doordarshan is concerned about the quality of its programmes particularly in 

view of stiff competition it is facing from Star and other satellite TV channels and is 

contemplating various measures to attract talent for its programmers. 

Course of Action : 

I. In an effort to attract talent, the Doordarshan has decided to revise its fee structure for the 

artists. 

II. The fee structure should not be revised until other electronic media also revise it.

किन: िूरिशान अपने कणयाक्रमों की गुर्वत्तण के बणरे में दचंदतत है, दवशेष रूप से थटणर और अन्य उपग्रह टीवी 

चैनलों से सणमनण कर रहे कठोर प्रदतथपिणा के संिभा में और अपने प्रोग्रणमर के दलए प्रदतभण को आकदषात करने के 

दलए दवदभन्न उपणयों पर दवचणर कर रहण है।

कणयावणही : 

I. प्रदतभण को आकदषात करने के प्रयणस में, िूरिशान ने कलणकणरों के दलए अपनी शुल्क संरचनण में संशोिन करने 

कण िैसलण दकयण है।

II. शुल्क संरचनण को तब तक संशोदित नहीं दकयण जणनण चणदहए जब तक दक अन्य इलेक्रॉदनक मीदडयण भी इसे 

संशोदित न करें।



Statement : Since its launching in 1981, Vayudoot private airlines has so far accumulated 

losses amounting to Rs. 153 crore during the last ten years. 

Course of Action :

I) Vayudoot should be directed to reduce wasteful expenditure and to increase passenger fare 

very much as campare than other airlines. 

II) An amount of about Rs. 300 crore should be provided to vayudoot to make the airlines 

economically viable.

किन : 1981 में लॉन्च होने के बणि, वणयुिूट प्रणइवेट एयरलणइसं को दपछले िस वषों के िौरणन अब तक 153 

करोड़ रुपये की हणदन ह ई है।

कणयावणही :

I) बह त ज्यणिण यणत्री दकरणयण बढणने और अपदशष्ट व्यय को कम करने के दलए वणयुिूट को दनिेदशत दकयण जणनण

चणदहए अन्य एयरलणइसं की तुलनण में । 

II) वणयुिूट एयरलणइसं को आदिाक रूप से व्यवहणया बनणने के दलए 300 करोड़ रुपये की रणदश प्रिणन की जणनी 

चणदहए।



Statement : The Government will slap legally enforceable penalties on coal 

companies defaulting on quality and quantity of coal supplies to bulk consumers 

especially to be thermal power stations.

Course of Action : 

I) The requirement of coal for thermal power stations should be assessed 

realistically. 

II) The coal companies should introduce welfare measures for their employees. 

किन : सरकणर दवशेष रूप से िमाल पणवर थटेशनों के दलए िोक उपभोिणओ ंको कोयले की आपूदता की गुर्वत्तण 

और मणत्रण पर चूक करने वणली कोयलण कंपदनयों पर कणनूनी रूप से लणगू करने योग्य जुमणानण लगणएगी।

कणयावणही : 

I) िमाल पणवर थटेशनों के दलए कोयले की आवश्यकतण कण आकलन वणथतदवक रूप से दकयण जणनण चणदहए।

II) कोयलण कंपदनयों को अपने कमाचणररयों के दलए कल्यणर्कणरी उपणय शुरू करनण चणदहए।



Statement : A sting operation conducted by a TV news channel proved to be a 

total failure as the reporter who carried out the sting was found to have created a 

fake sting in order to gain publicity and money.

COURSE OF ACTION :

1)Disciplinary action must be initiated immediately against the reporter.

2)The TV channel should be penalised and taken off air for a short period of time. 

किन : एक टीवी न्यूज़ चैनल द्वणरण आयोदजत एक दथटंग ऑपरेशन पूरी तरह दविल 

सणदबत ह आ क्योंदक सवंणििणतण दजन्होंने दथटंग दकयण िण, प्रचणर और िन हणदसल करने 

के दलए नकली दथटंग बनणयण िण। 

कणयावणही :

1) सवंणििणतण के दिलणि तुरंत अनुशणसनणत्मक कणरावणई शुरू की जणनी चणदहए।

2) टीवी चैनल को िदंडत दकयण जणनण चणदहए और िोडे़ समय के दलए प्रसणरर् बंि कर 

िेनण जणनण चणदहए।



Statement : The Karnataka government decided to bring an amendment to the 

Prevention of Cruelty to Animals Act (PCA), 1960 for conducting kambala.

Course of Action :

I. The Bill passed by the legislature doesn’t require an assent from the President

II. Karnataka government is going to follow the model of the Andhra Pradesh 

government and bring changes to the PCA.

किन : कनणाटक सरकणर ने कंबणलण आयोदजत करने के दलए पशु कू्ररतण दनवणरर् 

(पीसीए) अदिदनयम, 1960 की रोकिणम में सशंोिन लणने कण िैसलण दकयण।

कणयावणही :

I. दविणदयकण द्वणरण पणररत दविेयक को रणष्ट्रपदत से सहमदत की आवश्यकतण नहीं है । 

II. कनणाटक सरकणर आंध्र प्रिेश सरकणर के मॉडल कण पणलन करने जण रही है और 

पीसीए में बिलणव लणएगी ।



There are 5 members in a group . Some person are thief and some person are police . Police always speak truth 

and thief always speak lie .

A said ,” B is a police.”

B said ,” C is a thief .”

C said ,” D is a thief .”

E said ,” A and B are in same field .”

D said ,” E is a thief .”

एक समूह में 5 सिथय होते हैं। कुछ व्यदि चोर हैं और कुछ व्यदि पुदलस हैं। पुदलस हमेशण सच बोलती है और चोर हमेशण झूठ बोलते 

हैं।

A ने कहण, "B एक पुदलस है।"

B ने कहण, "C एक चोर है।"

Cने कहण, “D एक चोर है।"

E ने कहण, “A और B एक ही के्षत्र में हैं।"

Dने कहण, “E एक चोर है।"

Who is thief ?

(1) A,E (2) A, B ,D            (3) C,E (4) D,F       (5) B,C



There are 5 members in a group . 

Some person are thief and some 

person are police . Police always speak 

truth and thief always speak lie .

A said ,” B is a police.”

B said ,” C is a thief .”

C said ,” D is a thief .”

E said ,” A and B are in same field .”

D said ,” E is a thief .”



“all result is declared ” is written as “e@13   s#38   o#28   f#8 ”

“you go” is written as “z@46  h#22”

What is code for “hero ” के दलए सभंणदवत कोड क्यण होगण? 

(1) i@23

(2) J#23

(3) j@23

(4) i#23

(5) NOT



“all result is declared ” is written as “e@13   s#38   o#28   f#8 ”

“you go” is written as “z@46  h#22”

What is code for “keyboard ” के दलए सभंणदवत कोड क्यण होगण? 

(1) i@23

(2) J#23

(3) L@15

(4) L#15

(5) NOT


